

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: September 16, 2021

Progress Estimate Number	Contract ID	201120-F04	Pay Period Start	September 2, 2021	Original Contract Amou	nt\$158,858.25
7	Prime Contractor	K.J.U., Inc. dba K.J. Unnerstall Constru	Pay Period End	September 15, 2021	Net Change Order Amount Current Contract Amour	(\$8,407.00) nt \$150,451.25

Approval Date		By User				
September 16, 2021	Generated and Approved (and should be considered Draft) at the Project Office Level by	amburs1				
September 16, 2021	Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by	lewisj1				
September 17, 2021	Reviewed and Approved at the Central Office Controllers Office Level by					

Original Completion Date	Current Completion Date	Actual Completion Date	% of Current Contract Amount Complete
October 1, 2021	October 1, 2021		100.00%

	Contract Informational Dates											
Date Description	Original Completion Date	No Milestones Exist for Contract										
Acceptance Date												
Awarded Date	December 2, 2020	December 2, 2020										
Letting Date	November 20, 2020	November 20, 2020										
Notice to Proceed Date	January 4, 2021	January 4, 2021										
Work Began Date												

Contract Total Pay For Estimate No. 7										
	This Estimate	Previous	To Date							
201120-F04										
Total Posted Items Pay	\$0.00	\$150,451.25	\$150,451.25							
Gross Item Adjustments	\$30,837.25	(\$30,837.25)	\$0.00							
Incentive	\$0.00	\$0.00	\$0.00							
Disincentive	\$0.00	\$0.00	\$0.00							
Liquidated Damage	\$0.00	\$0.00	\$0.00							
Other Contract Adjustments	\$0.00	\$0.00	\$0.00							
		\$ <mark>119,614.00</mark>	\$150,451.25							
Contract Total Payable This Estimate:	\$30,837.25									

Items Paid This Estimate Period

No Data Available

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract

		nents This Estimate						
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J6M0275	0090	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	MaterialCredit			208	\$22.00	\$4,576.00
	0100	MISC.	MaterialCredit			207.3	\$116.50	\$24,150.45
	0100	MISC.	Material			-138	\$116.50	(\$16,077.00)
	0100	MISC.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0003) due to user amburs1 overridding Payment Estimate Exception 1 on the current Payment Estimate.	138	\$116.50	\$16,077.00
	0120	CONCRETE SIDEWALK, 4 IN.	MaterialCredit			10.2	\$104.00	\$1,060.80
	0140	CURB AND GUTTER TYPE B	MaterialCredit			14	\$75.00	\$1,050.00
Total								\$30,837.25

Revision 4/1/2020 Page 1 of 7



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(Contract Project Information								
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work									
J6M0275		Pavement and drainage improvements	94	ST CHARLES	at Rte. 94 s-curve in De	at Rte. 94 s-curve in Defiance								
Γotals by J	lob Numbe	ers												
J6M0275					This Estimate	Previous	To Date							
		d Item Pay Item Adjustme	ents		\$0.00 \$30,837.25	\$150,451.25 (\$30,837.25)	\$150,451.25 \$0.00							
	0.000	nom Aujuotine		Item Pay	\$30,837.25	\$119,614.00	\$150,451.25							
	Incen	tive		·	\$0.00	\$0.00	\$0.00							
	Incen Disin	tive centive		Í	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00							
	Disine Liquie			·										

Revision 4/1/2020 Page 2 of 7



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J6M0275, Item 4019905, Project Item Line Number 0100, Material Set 401990596, Material 0501CCPAQCQA - Concrete, Pavment contractor mix or QCQA, Acceptance Action Generic 0501CCPAQCQA is insufficient.	The contractor has met all required testing. Still working with materials to clear discrepancy.	amburs1	Overridden
Estimate Exception Type: Insufficient Materials: Project J6M0275, Item 6086004, Project Item Line Number 0120, Material Set 608600496, Material 1055CMMLDST1D - Clear Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST1D is insufficient.	The contractor has met all required testing. Still working with materials to clear discrepancy.	amburs1	Overridden
Estimate Exception Type: Insufficient Materials: Project J6M0275, Item 6086004, Project Item Line Number 0120, Material Set 608600496, Material 0501CCBA - Concrete, Class B w/Air, Acceptance Action Generic 0501CCBA is insufficient.	The contractor has met all required testing. Still working with materials to clear discrepancy.	amburs1	Overridden
Estimate Exception Type: Insufficient Materials: Project J6M0275, Item 6206000C, Project Item Line Number 0240, Material Set 6206000C96, Material 1048PMTRWBWH - Marking Paint Acrylic Waterborne White, Acceptance Action Generic 1048PMTRWBWH is insufficient.	The contractor has met all required testing. Still working with materials to clear discrepancy.	amburs1	Overridden
Estimate Exception Type: Insufficient Materials: Project J6M0275, Item 6206001C, Project Item Line Number 0250, Material Set 6206001C96, Material 1048PMTRWBYL - Marking Paint Acrylic Waterborne Yellow, Acceptance Action Generic 1048PMTRWBYL is insufficient.	The contractor has met all required testing. Still working with materials to clear discrepancy.	amburs1	Overridden

Revision 4/1/2020 Page 3 of 7



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

					eport Generated date and can differ from the posted amo							
ontract ONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTE To Date (See repo generated date)
20-F04	J6M0275	0001	0010	2019902	MISCROCK RELOCATION	6.00	0.00	6.00	EA	6.00	\$250.00	\$1,500.0
		0001	0020	2019902	MISCTREE REMOVAL	1.00	0.00	1.00	EA	1.00	\$500.00	\$500.0
		0001	0030	2019919	MISC.CLEARING & GRUBBING	0.10	0.00	0.10	ACRE	0.10	\$20,000.00	\$2,000.
		0001	0040	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$6,100.00	\$6,100.0
		0001	0050	2031000	CLASS A EXCAVATION	51.00	0.00	51.00	CUYD	51.00	\$25.00	\$1,275.
		0001	0060	2036000	COMPACTING EMBANKMENT	138.00	-6.00	132.00	CUYD	132.00	\$12.00	\$1,584.
		0001	0070	2063000	CLASS 3 EXCAVATION	178.00	-19.50	158.50	CUYD	158.50	\$20.00	\$3,170
		0001	0080	3040504	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	11.00	0.00	11.00	SQYD	11.00	\$30.00	\$330
		0001	0090	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	208.00	0.00	208.00	SQYD	208.00	\$22.00	\$4,576
		0001	0100	4019905	MISC.OPTIONAL PAVEMENT	207.30	0.00	207.30	SQYD	207.30	\$116.50	\$24,150
		0001	0110	6039902	WATER	1.00	0.00	1.00	EA	1.00	\$2,200.00	\$2,200
		0001	0120	6086004	CONCRETE SIDEWALK, 4 IN.	10.20	0.00	10.20	SQYD	10.20	\$104.00	\$1,060
		0001	0130	6089905	MISC.STAMPING CONCRETE SIDEWALK	3.00	0.00	3.00	SQYD	3.00	\$681.00	\$2,043
		0001	0140	6091052	CURB AND GUTTER TYPE B	14.00	0.00	14.00	LF	14.00	\$75.00	\$1,050
		0001	0150	6096010A	FURNISHING TYPE 1 ROCK DITCH LINER	6.00	0.00	6.00	CUYD	6.00	\$80.00	\$480
		0001	0160	6096041	PLACING TYPE 1 ROCK DITCH LINER	6.00	0.00	6.00	CUYD	6.00	\$80.00	\$480
		0001	0170	6113020	FURNISHING TYPE 2 ROCK BLANKET	2.00	-2.00	0.00	CUYD	0.00	\$300.00	\$0
		0001	0180	6113040	PLACING TYPE 2 ROCK BLANKET	2.00	-2.00	0.00	CUYD	0.00	\$200.00	\$0
		0001	0190	6143010	MANHOLE FRAME AND COVER, TYPE 1-A	1.00	0.00	1.00	EA	1.00	\$400.00	\$400
		0001	0200	6143012	MANHOLE FRAME AND COVER, TYPE 2	1.00	0.00	1.00	EA	1.00	\$400.00	\$400
		0001	0210	6169901	MISC.TRAFFIC CONTROL (LUMP SUM)	1.00	0.00	1.00	LS	1.00	\$17,000.00	\$17,000
		0001	0220	6169902	MISC.NTCIP COMPLIANT CHANGEABLE MESSAGE SIGN (CONTRACTOR FURNISHED & RETAINED)	2.00	0.00	2.00	EA	2.00	\$2,800.00	\$5,600
		0001	0230	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$10,660.00	\$10,660
		0001	0240	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	135.00	0.00	135.00	LF	135.00	\$10.00	\$1,35
		0001	0250	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	220.00	0.00	220.00	LF	220.00	\$10.00	\$2,20
		0001	0260	6214600A	FLOWABLE BACKFILL	11.00	0.00	11.00	CUYD	11.00	\$150.00	\$1,65
		0001	0270	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$2,850.00	\$2,85
		0001	0280	7261018	18 IN. PIPE GROUP A	138.00	-8.00	130.00	LF	130.00	\$80.00	\$10,40
		0001	0290	7269903	MISC.18 IN, CLASS V REINFORCED CONCRETE PIPE	34.00	0.00	34.00	LF	34.00	\$135.00	\$4,59
		0001	0300	7269913	MISC.TRENCH DRAIN	77.00	0.00	77.00	FT	77.00	\$306.00	\$23,56
		0001	0310	7310060	PRECAST CONCRETE MANHOLE - 60 IN.	12.00	0.00	12.00	FT	12.00	\$325.00	\$3,90
		0001	0320	7319902	MISC.MODIFIED S-HEADWALL EXTENDED	1.00	0.00	1.00	EA	1.00	\$4,100.00	\$4,10
		0001	0330	7319902	MISC.MODIFIED S-HEADWALL WITH DROP INLET	1.00	0.00	1.00	EA	1.00	\$5,300.00	\$5,30
		0001	0340	7320618A	18 IN. OR ALLOWED SUBSTITUTE GROUP A FLARED END SECTION	2.00	0.00	2.00	EA	2.00	\$570.00	\$1,14
		0001	0350	8031000A	TURF TYPE TALL FESCUE SODDING	147.00	-147.00	0.00	SQYD	0.00	\$30.00	\$
		0001	0360	8061005	ROCK DITCH CHECK	38.00	0.00	38.00	LF	38.00	\$50.00	\$1,90
		0001	0370	8061016	SEDIMENT REMOVAL	9.00	0.00	9.00	CUYD	9.00	\$50.00	\$45
		0001	0380	8061019	SILT FENCE	75.00	-75.00	0.00	LF	0.00	\$5.00	\$
		0001	0390	8061050	TYPE C BERM	10.00	0.00	10.00	LF	10.00	\$50.00	\$50
		0001					-19.00	0.00	SQYD	0.00	\$80.00	\$1
	Project Je	6M027 <u>5</u> - <u>To</u>	otal Value	Posted to D	late as of Report Generated Date							\$150,45 ⁴
20-F04 Ove	rall - Total	Value Post	ed to Dat	e as of Repo	rt Generated Date							\$150,451

Revision 4/1/2020 Page 4 of 7



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

The information below this line are details for Construction Signs (if applicable).

No Data Available

Revision 4/1/2020 Page 5 of 7



Line Item Adjustments by Estimate

Contract ID:190621-F01

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks					
J6M0275	0090	TYPE 5 AGGREGATE	Material		4	Aug 2, 2021	SYSTEM	(\$3,036.00)						
		FOR BASE (6 IN. THICK)			5	Aug 16, 2021	SYSTEM	(\$3,036.00)						
					6	Sep 2, 2021	SYSTEM	(\$4,576.00)						
				- Total				(\$10,648.00)						
			Material - Tota					(\$10,648.00)						
			MaterialCredit		5	Aug 16, 2021	SYSTEM	\$3,036.00						
					6	Sep 2, 2021	SYSTEM	\$3,036.00						
					7	Sep 16, 2021	SYSTEM	\$4,576.00						
				- Total				\$10,648.00						
			MaterialCredit	- Total				\$10,648.00						
	0090 -	Total						\$0.00						
	0100	MISC.	Material		4	Aug 2, 2021	SYSTEM	(\$16,077.00)						
					5	Aug 16, 2021	SYSTEM	(\$16,077.00)						
					6	Sep 2, 2021	SYSTEM	(\$24,150.45)						
										7	Sep 16, 2021	SYSTEM	\$16,077.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user amburs1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					7	Sep 16, 2021	SYSTEM	(\$16,077.00)						
				- Total				(\$56,304.45)						
			Material - Tota					(\$56,304.45)						
			MaterialCredit		5	Aug 16, 2021	SYSTEM	\$16,077.00						
					6	Sep 2, 2021	SYSTEM	\$16,077.00						
					7	Sep 16, 2021	SYSTEM	\$24,150.45						
				- Total				\$56,304.45						
			MaterialCredit	- Total				\$56,304.45						
	0100 - 0120	CONCRETE	Material		6	Sep 2,	SYSTEM	\$0.00 (\$1,060.80)						
		SIDEWALK, 4 IN.		- Total		2021		(\$1.060.90)						
			Motorial Tet					(\$1,060.80)						
			Material - Tota MaterialCredit		7	Sep 16, 2021	SYSTEM	(\$1,060.80) \$1,060.80						
				- Total		2021		\$1,060.80						
			MaterialCredit					\$1,060.80						
	0120 -	Total	MaterialGredit	- TUtal										
					,	۸ -	0)/0==	\$0.00						
	0140	CURB AND GUTTER TYPE B	Material		4	Aug 2, 2021	SYSTEM	(\$1,050.00)						
					5	Aug 16, 2021	SYSTEM	(\$1,050.00)						
				- Total	6	Sep 2, 2021	SYSTEM	(\$1,050.00)						
			Motorial Tet					(\$3,150.00)						
			Material - Tota				0)10==:	(\$3,150.00)						
			MaterialCredit		5	Aug 16, 2021	SYSTEM	\$1,050.00						

Sep 21, 2021



Line Item Adjustments by Estimate

Contract ID:190621-F01

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J6M0275	0140	CURB AND GUTTER	MaterialCredit		6	Sep 2, 2021	SYSTEM	\$1,050.00	
		TYPE B			7	Sep 16, 2021	SYSTEM	\$1,050.00	
				- Total				\$3,150.00	
			MaterialCredit	- Total				\$3,150.00	
	0140 -	Total						\$0.00	
	0200	MANHOLE FRAME AND COVER,	Material		3	Jul 16, 2021	SYSTEM	(\$400.00)	
		TYPE 2			4	Aug 2, 2021	SYSTEM	(\$400.00)	
					5	Aug 16, 2021	SYSTEM	(\$400.00)	
				- Total				(\$1,200.00)	
			Material - Tota					(\$1,200.00)	
			MaterialCredit		4	Aug 2, 2021	SYSTEM	\$400.00	
					5	Aug 16, 2021	SYSTEM	\$400.00	
					6	Sep 2, 2021	SYSTEM	\$400.00	
				- Total				\$1,200.00	
			MaterialCredit	- Total				\$1,200.00	
	0200 -	Total						\$0.00	
	0300	MISC. RIGID PIPE CULVERT	Construction Stockpile Construction		6	Sep 2, 2021	SYSTEM	(\$9,375.62)	Payment Estimate Item Adjustment generated Stockpile Transaction
		COLVLINI		- Total				(\$9,375.62)	
				Stockpile - To	otal			(\$9,375.62)	
			Construction Stockpile STMI		1	Apr 2, 2021	SYSTEM	\$9,375.62	Payment Estimate Item Adjustment generated Stockpile Transaction
			STIVII	- Total				\$9,375.62	
			Construction S	Stockpile STI	VII - Total			\$9,375.62	
	0300 -	Total						\$0.00	
	0330	MISC. MANHOLES AND DROP	Material		4	Aug 2, 2021	SYSTEM	\$5,300.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user amburs1 overridding Payment Estimate Exception 9 on the current Payment Estimate.
		INLETS			4	Aug 2, 2021	SYSTEM	(\$5,300.00)	
					5	Aug 16, 2021	SYSTEM	\$5,300.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user peterr1 overridding Payment Estimate Exception 9 on the current Payment Estimate.
					5	Aug 16, 2021	SYSTEM	(\$5,300.00)	
				- Total				\$0.00	
			Material - Tota					\$0.00	
	0330 -	Total					\$0.00		
J6M0275 -	Total							\$0.00	
Overall - 1	Γotal						\$0.00		